PDFIZ21FE6 A DANA TY o BEEREWEBE ToRECES) (HEETNBE - BB R 12T 1<8H)
ONE-TOUCH FITTINGS

gy

FyFF

PDFIZ21FE6 A R DHNB TY o BHEREWEBE TOREES (LT B E - B8R 147 12181)

g

N o " N I = MSCNL MJCNLS
Ii;;;_\zé;j_ MSCNL #US C6s@iE) EX wo| A [PAWR) SR BUROR g | R (VRN ioi0a | VERRE v
MJCNLS %U25:5US304 Type D 1~93[10~50|1~93[10~50
ab M5 [201(215) | _2 | 8(10) | M5x0.8 45(6) | 140 | 130 | 1,080 | 1,020
MSCNL 4 [1 20105 [ 3 10 R1/8 32(4) [86(8) [ 110 100 | 1,050 990
2 |201(195) | 3 14 R1/4 17.3(15) | 120 110 | 1,310 [ 1,240
M5 | 21.8(23) 2[4y (4p [M5x08 3.2(4.4) [ 83(9) [ 160 150 | 1.220 [ 1,150
6 |1 22663 | 4 R1/8 92(11) | 120 | 110 | 1,150 | 1,090
M Hz 2 |228(35) | 4 14 R1/4__|11.5(10.3) [182(18) | 120 | 110 | 1,290 | 1,220
3 | 28015 | 4 17 R3/8 28.4(26) | 160 | 150 | 1,580 | 1,500
1 | 27.7(28) 5 [13(14)| R1/8 [187(17.5) 13.7%18; 140 130 | 1,300 | 1,230
I 8 [2 700 [ 6 14 R1/4 171(7) | 150 | 140 | 1,280 | 1,210
3 iH-a MSCNL 3 |mi@s)| 6 Ra/s | 229224) 573 oa) [ 160 | 160 [ 1.420 | 1340
‘ MJCNLS 12460 | 5 17 [ Ri/8_|185(i75) [22.2(26) | 170 | f60 | 1900 | 1,800
—J 10 [ 2|45 | 6 Ri/4 [26.9(30.5) [27.6(22) [ 170 160 | 1,920 [ 1,820
MJCNLS 3 |284(285)| 8 R3/8 | o0 0(s05) [293(26) | 180 [ 170 | 1,020 | 1,820
A || Hi 4 |213(265) | 8 [21(22) | Ri/2 VAU [485(49) | 220 | 200 | 2,100 | 1,990
2 |354(355) [ 6 19 R1/4 [26.9(30.5) [34.2(37) | 220 [ 200 | 2,380 [ 2,260
12| 3 |318(305) | 8 R3/8 |, o) [335G2) [ 230 [ 210 | 2.380 [ 2.260
4 |338(295) [ 8 [21(22)] Ri/2 : 548(51) | 250 [ 230 | 2.440 | 2310
A V278 PTRITFL L) o Tl b | 2 s %o IR I+
®BEHM§C§%;§2§T° MJCNLSKE | @O MICNLSIE () REfBEANE T, £AREAS (H1) EHVEL Ao
7= BRI,
3 T = =
| PRget MSCNC 1 03604 (38) Sk mo | A |PARMR| oy | BUBAR | g | ER [ YERSE [odeE
5\ EREAT— SRy )As%k | —pe [ D H M {9) |1~93 ] 10~50
4 | M5 | 201 2 82 | M5%0.8 4.2 140 130
1 20.1 3 10 R1/8 32 8 130 120
M5 | 218 2 11 M5x0.8 7.2 150 140
M 6 1 22 4 1 R1/8 s 8.6 140 130
/de 2 228 4 135 R1/4 - 16.8 160 | 150
1 27.7 5 13 R1/8 187 131 160 150
v —Z= 8 2 25.7 6 135 R1/4 269 155 170 160
i ] a MSCNC 3 237 6 17 R3/8 - 259 190 180
1 29.4 5 155 R1/8 185 18 200 190
] 10 |2 324 6 155 R1/4 26.9 233 200 190
3 28.4 8 17 R3/8 - 257 220|200
A H 4 i 21 R1/ - 46.7 270 250
“ 2 5. 18.8 R1/ 26.9 207 270 | 250
12 [ 3 1. 18.8 R3// e 302 270|250
4 3 21 R1/ : 50.6 200 | 270
MDHE U278 PBT(RYTFLLTLIEL—P)
W71 X Va9 4% MSCNE %l : c3604(§§ﬂ) = FES o A 5 _rEn. hb';}'fx e —— %? YEEER [ 5(0ER
BEE= A sy% ype D c g 1~93 | 10~50
4 1 24.4 11 13 Rc1/8 2 135 220|150
H 2 27.4 14 17 Ro1/4 - 24.9 260 | 190
TN 1 25.4 11 13 Rc1/8 148 240|160
6 2 28.4 14 17 Re1/4 11.0 26.1 260 190
Rc === = 3 29.4 15 19 Rc3/8 27.6 290 | 190
B (NN 21 M a 1 27.7 10 13 Rc1/8 164 260 | 190
i i1 — 8 2 30.7 14 17 Ro1/4 25.2 277 300 200
----- | MSCNF 3 31.7 15 19 Rc3/8 292 330 230
2 32.4 13 17 Re1/4 30.3 240 220
B ‘ 10 [ 3 33.4 15 19 Rc3/8 387 325 300 280
BEE— 4 36.4 18 24 Rc1/2 53.6 350 330
A 2 35.4 12 19 Re1/4 45.3 330 310
12 [ 3 36.4 15 19 Rc3/8 446 39.4 330 310
. 4 304 18 24 Re1/2 60.6 470 340
MDME o758 PBTRYTFLLTLT4L—H)
= — - S 9 ZMEIE | ZEIE | bUYMZ | bUHX | EHRER VEREE | I(MER
WX AR~k MSSB  #U#: csso;(ﬁ%ﬂ})wlﬂf Type o ®¥| A | B | Th Moo | Mxt2% | Re | (mm) | (g) [1~93]10~50
He 8 " 4 1] 251 [ 11 14 14| Mi2x1.0 Hc1;8 32 18 | 360 | 220
1 1| 23] 9 Rc1/8 26 | 340 | 220
~7B: ya ST 2 [aa]14a] 7|k || 6 30 | 340 | 240
1| 289 8 Rc1/8 345 | 410 | 220
& Re [ f MSSB 8 2 | 349 [ 14| 19 19 | M16x1.0 [Re1/4| 252 [ 425 | 410 | 220
o \ == —{ M 3 | 39 [ 15 Rc3/8 36 | 430 | 220
i ] 2 [ 32318 Re1/4 585 | 460 | 220
I of O[5 faaaf15] 2 | 2 |MOX10 pa/p] 387 [Ts5 | ae0 | 220
— 3 | 374 | 14 Rc3/8 715 | 510 | 220
4 214 Taa 8] % 24 |M2X10Tpeijp] 448 705 | se0 | 220
A
MHE U278 PBIRITFLLFLTEL—h)
x wsm - . —&| 6L - MSELL MJELLS
et MSELL BUS COMGH +| 2= lwo{me| a | 8 | c | T x| V0ER) R® [voryq vous| vrea v
Type [D H| M 1~93 [10~50] 1~93 [10~50
[W5 ] 17.1(18) | 146(15) 9(8) [Mex08| 32 [46(5 ] 210 190 | 1,080 | 1,020
MSELL a1 171(185) [ 178205 | 9(10) [ 10 [R1/81, (o [7.0(8) [ 170 | 160 | 1.080 | 1020
A [ 2] 17.1(185) | 20.8(24) 14 [Ri/4] " [17(15) | 190 180 | 1,260 | 1,190
P | M5 | 18(20) [15.7(15) 9(10) [ wex08] 3.2(4.2) [5.4@) | 210 190 | 1,180 | 1,120
NEN 18(21) [189(24) | ., [100121 [R1/8 87(13)| 180 | 170 | 1,210 | 1,140
| 2 | 18(21) [21.9(28) | ~“"* [ 14 [Ri/4| 8.5(8) [17.8(18)| 190 180 | 1,290 [ 1,220
- [ |38] 18(21) [22.9(30) 17 | R3/8 27.206) | 220 200 | 1,630 | 1,540
| 1] 236 | 203(255) 10(14) | R1/8 104(17) | 210 190 | 1,300 | 1,230
MSELL |8l 2ls@[ 236 22.8(285) | 136(145) [ 14 [R1/4] 15(18) [19.1(20)| 220 200 | 1,360 | 1,290
L 3] 236 | 23.8(30) 17_| R3/8 284(28)| 230 | 210 | 1,570 | 1,490
- MJELLS |71 |w@ 25%273 zs.egze; 17 | R1/8[221(243) 20.8%26% 290 | 270 | 1.850 | 1.750
2 25(27) | 26.6(31 17_|Ri/4 255(28)| 290 | 270 | 1,920 | 1,820
MJELLS NH 10137 25(27) [261025) | "8 37 TRa/s ] 51.5(27) [275(33)| 290 | 270 | 1.930 | 1.830
! L[] 25(27) [291(355) 21(22) [R1/2 472(49)[ 350 | 330 | 2,680 | 2,540
M 2] 322(295) | 28.5(33) 17(19) [ R1/4 [41.7(33) [31.1(37)| 350 | 330 | 2,600 | 2,470
/ 12| 3 | 322(295) | 28(34.5) | 19.7 [17(19) | R3/8 426(35) 331(43)| 360 340 2,620 | 2,480
[ 4] 322(295) [ 31(39.5) 2A(22) [R1/2] ™ 52.8(56) | 390 370 | 2,740 | 2,600
X RN 34(355) | 36 (1) [ 0oee) [0QAITRY/B] o o) 1529063 [ 760 | 720 - =
MHE Kk PBTRUTFLLFLIEL—H) 4 34(35.5) [38.5(44) | “" ™ [o1(22) [R1/2] " 672(76)| 780 | 740 = =
[HEIEMSELLIC £ T, MJELLSIE @MIELLSKE ( )ABIEELNET,  OMSELLOARFEIRBICANET,
®CAD-F—5!E§E%E<75§L\D OAFERIRIIMIELLSDHFTRETT .
@ MJCNLS MJCNLS
gomr [ mx |- wmv |- [st4s] EmwﬂJELLS = M.g%LSLA%
P = X1 1;\,
A m.?gm—ses I R 8 R EmeEr | —15—600 | 5400 0~60C
waEs | ARG | EANG BB EREN 1MPa 0.9MPa
=] X0 EREZES | —100kPa = —100kPa __ ®FiEHEZE
De"“'y i’EEtﬁﬁ B= R133 A = ©pBUECHN (F58) 12 CRBR Lot %5 TT X Y= NA=7
HHE = L] 2l kN TEHTI =7 —T R TT (MR«
ﬂ 1447 OZHFLICLIPMEO0E, HEHFRMHLEYT, ~ORnBEBAIWSI R, !

(® CADF—#%7+JV 4 % : 53_Fittings

[RoS 10}

MME PBT(RUTFLLFLIEL—R)

UJDSTG
USYL10

EXHI

- W

. ;eﬁl,;\glery . £ & ZHSE BEP133

OZHLITLNPMB00iZ, HHHFTRAFELET,

L ESY [EETERTS
WEXS g x0
B & 1~50 51~
HEE A LR
OFRTERBAGWOSISTIHEEE,

{EHEEEﬁ

HRIELEZE

W1=#YZ—b TL B 2 BB |VEREME IR
Uss Type D A Cc AHEFER (mm?) (g) 1~97|10~50
4 30.2 9 3.2 3.1 200 | 190
6 32 11.2 11.0 48 200 | 190
\ a7 8 40.2 136 25.2 838 220 | 200
\ “The USSTL |55 40 16.3 38.7 10.6 280 | 260
12 54.8 19.7 446 20.9 320 | 300
16 52 256 85.0 32.8 770 | 600
[@#ME PBT(RUTFLLTLTEL—R)
REIZAVZRL—b R EYHEE | BE |[YEEEM V18R
u UJDST Type No. |F#&| D1 | Dz | A | C | Ty (9) [1~93[10~50
4 4 6 | 365 | 125 35 6 250 | 200
4—8 4 8 | 395|145 4 8 530 | 340
—H-— - 6 |B®) [ 6 | 8 [395] 145 10 8 | 260 | 240
a -—- UJDST 5—10
,,,,, w(a) |6 [ 10 [ 45 [175 10 12 660 | 420
8 8 | 10 | 45 [ 175 22 12 320 | 290
‘ A 10 10 | 12 | 475] 20 30 17| 340 | 310
M#ME PBT(RUTFLLFLTEL—R)
[ = V%I EBL B 2 B | YEREE (0¥
us Type p| A © E |H#EES MM G) [1~ga[10~50
4 | 174 9 32 3.2 32 190 | 180
‘ A 6 | 190 11.2 32 93 49 200 | 190
8 | 236 136 32 20.3 9.4 220 | 200
USEBL 551 16.3 42 27.0 11.8 | 310 | 290
R o 12| 322 19.7 42 40.6 225 | 330 | 310
- 16 34 25.6 4.2 78.7 36.5 540 | 510
I\ alle E
MME PBTCRUTFLEFLTZL—N)
Wi=4v5+ TEL B o | B |YERER |V
us [TVpe o A C] E N HHEE (mm?) (9) [1~92[10~50
4 |71 ] 9 12 3.2 5 | 250 | 230
6 | 19 [12] 32 [ 13 10.9 73 | 260 | 240
8 | 236 | 136 18 248 141 | 290 | 270
USTEL 55 [ 25 [ 163 24 39.5 17.7 | 330 | 310
12 | 322 | 197 | 42 | 28 442 335 | 470 | 440
16 | 34 | 256 30 835 538 | 840 | 790
M#E PBTCRUTFLLFLIZL—b)
WYs17 EES EWEER| BE FEEEEYA(ER
usyL Type p| A | B | €C = P "(mm?) | (g) [1~9a[10~50
4 | 183 | 312 | 9 22 | 93 25 49 | 270 | 250
6 | 226 [347 [ 112 ] ., [ 114 99 73 | 270 | 250
USYL 8 | 278 | 442 | 136 - 14.2 2238 139 | 300 | 280
10|33 46 [163 ] ,, [ 17 36.6 17.7 | 350 | 330
12 | 397 | 568 | 19.7 : 20 432 325 | 440 | 410
M4 PBT(RUTFLLFLTEL—N)
W751 8755 BSLG B A L c BB YEERH ¥/ FEM
Type D (g) 1~93 10~50
A 4 30 11 6 05 120 110
6 34 14 8 1 120 110
P e — JDEGF °¢ BSLG [ 8 38 16 10 2 120 110
1 10 41 16 12 3 140 130
‘ L 12 43 16 14 4 180 170

B0
- \—p \H@



